Chapter 11 Problems
1. JCK had beginning work in process inventory of $8,000.  During the period, JCK transferred $34,000 of raw materials to work in process.  Labor costs amounted to $41,000 and overhead amounted to $36,000.  If the ending balance in work in process inventory was $12,000, what was the amount transferred to finished goods inventory?                                    Work in Process
a.) $107,000


$  8,000  $107,000
b.) $119,000


  34,000
c.) $131,000


  41,000
d.) None of the above

  36,000
$12,000
2. The cost of direct materials purchased on account is expensed when:

a.) the materials are purchased

b.) the cash is paid to settle the associated accounts payable

c.) the manufacturing process is complete

d.) the goods made with the materials are sold

3. In which account is the cost of direct labor (for production workers) initially recorded?

a.) Wages Expense

b.) Work in Process Inventory

c.) Manufacturing Overhead

d.) Cost of Goods Sold

Use the following information to answer the next three questions:

The AMX Company was started on January 1, 2004.  The company incurred the following transactions during the year.

1. Acquired $2,500 by issuing common stock

2. Purchased $700 of direct raw materials

3. Use $500 of these direct raw materials

4. Paid production workers $900 cash

5. Paid $800 for manufacturing overhead 

6. Started and completed 100 units of inventory

7. Sold 80 units at a price of $30 each

8. Paid $400 for selling and administrative expenses
Total production cost =  $500 + 900 + 800 = $2200
4. The amount of finished goods inventory on AMX’s balance sheet at December 31, 2004 would be:

a.) $440

Cost per unit = $2200 / $100 = $22
b.) $1,760

$22 * 20 = $440 
c.) $2,000

d.) None of the above

5. The amount of cost of goods sold recognized by AMX in 2004 is:

a.) $440

Cost per unit = $22
b.) $1,760

$22 * 80 = $1,760
c.) $2,000

d.) None of the above

6. The amount of net income recognized by AMX in 2004 is

a.) $640

NI = Rev – COGS – SG& A Exp
b.) $1,040

Rev = $80 * 30 = $2,400
c.) $750

$2,400 – 1,760 – 400 = $240
d.) $240

Use the following information to answer the next two questions:  The following amounts pertain to the ABC Company for 2004:


Estimated Overhead Costs

$101,988


Estimated Direct Labor hours

    67,992



Predetermine OH Rate = Estimated OH / Estimated DLH


= $101,988 / 67,922



= $1.50
7. If actual direct labor worked in February was 6,000 hours, how much overhead cost would be allocated to work in process for the month?

a.) $0

6,000 * $1.50 = $9,000
b.) $6,900

c.) $5,666

d.) $9,000

8. If actual overhead costs for the year were $106,000 and actual direct labor worked was 70,000 hours, the overhead would be


a.) overapplied by $1,000


Actual = $106,000
b.) underapplied by $1,000

Applied = 1.5*70,000 = $105,000
c.) overapplied by $1,012


$106,000 - $105,000 = $1,000
d.) underapplied by $1,012

Applied < Actual = Underapplied
9. Which of the following describes the flow of depreciation on manufacturing equipment?

a.) It passes through three inventory accounts and then is expensed as cost of goods sold

b.) It is shown directly as depreciation expense on the income statement

c.) It is added to the Manufacturing Overhead account

d.) None of the above

10. The accounting records for Wright Manufacturing Company disclosed the following cost information for 2003:

Direct Materials

$60,000

Direct Labor 


$80,000

Fixed Manufacturing OH
$100,000

Variable Manufacturing OH
$20,000

Assume the company produced 20,000 units of inventory, sold 12,000 of these units in 2003 for $196,000, and that there was no beginning inventory.  What amount of ending inventory will be reported on the balance sheet under absorption costing?

a.) $156,000
Absorption Costing – Include ALL OH in calculations
b.) $104,000
Total Product Cost = 60,000 + 80,000 + 100,000 + 20,000 = $260,000
c.) $64,000
$260,000 / 20,000 = $13 * 8,000 = $104,0000
d.) $260,000

e.) I don’t know

11. Brown Company had no beginning inventory.  Its total manufacturing costs for the year were $750,000.  If the amount of ending work in process inventory is $150,000 and cost of goods sold was $350,000, the cost of goods manufactured would have been

a.) $250,000


               WIP

b.) $600,000


$750,000     $600,000
c.) $900,000


$150,000
d.) $550,000

e.) None of the above

12. The Green Company made the following estimates for the 2004 accounting period:

Overhead Costs
$750,000
Direct Labor Hours
250,000

If 25,000 hours of labor are actually worked in July, how much overhead cost would be allocated to work in process during the year?

a.) $750,000

Predetermined OH Rate = $750,000 / 250,000 = $3
b.) $250,000

Applied = Rate * Actual Hrs
c.) $75,000

$3 * 25,000 = $75,000
d.) $125,000

e.) None of the above

